Algebra 2-12





           Name _______________________________

Review Sheet:  Lessons 7.1-7.3



Date _________________ Hour _________


Determine whether each situation represents a linear, quadratic, or exponential relationship between x and y.

Circle your choice. (1 point each)
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Determine whether each situation represents exponential growth or decay.  Circle your choice.   Then determine the growth/decay factor.  (1 point each part)
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6.  The initial population of bacteria in a lab is 300.  The number of bacteria is
6. ___________________

     given by
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, where x represents the number of hours elapsed.  Predict

     the bacteria population at the end of 4 hours.    (1.5 points)  SHOW WORK










                                                

7.   Pat bought a car for $9500.  The salesman projected that the value of the car 
7. ___________________

would decline by 15% per year for the next 10 years.  What would be the value, 

to the nearest dollar, of  Barney’s car after 5 years? (2 points)   SHOW WORK

8.  A house was bought for $50,000 and was sold 15 years later for $95,000.   
8. ___________________

Find the effective yield to the nearest tenth of a percent. (3 points)    SHOW WORK
9.  Find the final amount of a $1000 investment after 9 years at 8% interest compounded annually and quarterly.  Round to the nearest cent.  (2 points)
	Compound period
	n
	Formula
	Final Amount

	Monthly
	
	
	

	Quarterly
	
	
	

	Continuously 
	
	
	


10.  Graph the function
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10.  

 Draw in the asymptote with a dashed line. (3 points)






    

	x
	y
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11.
Graph the function
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Draw in the asymptote with a dashed line. (3 points)                    

	x
	y

	–3
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12.
What is the y-intercept of 
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12.  ____________________

13.  Write the equation in logarithmic form. (1.5 points)
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13a . _________________

13b. _________________

14.   Write the equation in exponential form.
(1.5 points)
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14a. _________________

14b. _________________

Solve for v. (1.5 points each)     SHOW WORK
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15. _________________
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